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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one ----- many explorers like Christopher
Columbus confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ---------—----— to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste, This ————--—eeneeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --———-eeeeenee- effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the -
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would --------ee———-- after graduation, she was worried that she
would not see her friends anymore.
l) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain ----—---——---——- in ways that can
keep seniors just as sharp as youngsters.
1) composes 2) conveys 3) compensates 4) corrodes

8- Itis argued by some that hypnosis is an effective intervention for ---—----veennn pain from
cancer and other chronic conditions.
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get -----=vmenu-v -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional

10- The post office has promised to resume first class mail -—----—---—---to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeee 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—mmmmmmmmmeem . actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) ------- in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that $Hit

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems), leaves, and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left afier the
crop is processed into a usable resource. These residues include husks,
seeds. bagasse, molasses and roots. They can be used as animal fodder and soil
amendment. fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called
immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time, the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
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recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that ————-ceeeeeeee,

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility

3) soil-available N is fixed by 1 per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that -——---eeeeeeeme,

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, ------e-eceeev,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that ——-----eceeeeee,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest t0 —=--—emeeeeees,
1) ‘root’ 2) *branch’ 3) “straw’ 4) “trunk’

PASSAGE 2:

In botany, secondary growth is the growth that results from cell division in the cambia
or lateral meristems and that causes the stems and roots to thicken, while primary
growth is growth that occurs as a result of cell division at the tips of stems and roots,
causing them to elongate, and gives rise to primary tissue. Secondary growth occurs in
most seed plants, but monocots usually lack secondary growth. In many vascular
plants, secondary growth is the result of the activity of the two lateral meristems, the
cork cambium and vascular cambium. Arising from lateral meristems, secondary
growth increases the girth of the plant root or stem, rather than its length. As long as
the lateral meristems continue to produce new cells, the stem or root will continue to
grow in diameter. In woody plants, this process produces wood, and shapes the plant
into a tree with a thickened trunk. Because this growth usually ruptures the epidermis
of the stem or roots, plants with secondary growth usually also develop a cork
cambium. The cork cambium gives rise to thickened cork cells to protect the surface of
the plant and reduce water loss. If this is kept up over many years, this process may
produce a layer of cork. In the case of the cork oak it will yield harvestable cork.

Secondary growth also occurs in many non-woody plants, e.g. tomato, potato tuber,
carrot taproot and sweet potato tuberous root. A few long-lived leaves also have
secondary growth. Abnormal secondary growth does not follow the pattern of a single
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vascular cambium producing xylem to the inside and phloem to the outside as in
ancestral lignophytes. Some dicots have anomalous secondary growth, e.g. in
Bougainvillea a series of cambia arise outside the oldest phloem.

The passage mentions that water loss in a woody plants is best reduced through its ---—--,
1) “stem epidermis’ 2) ‘vertical meristem’
3) ‘thickened root’ 4) ‘cork cambium’
We may understand from the passage that --—--nx,

1) lateral meristems occasionally produce diametrical cells

2) as non-seed plants, monocots only have primary growth

3) vascular cambium produces xylem only in lignophytes

4) secondary growth increases the length and girth of roots

It is stated in the passage that ---—---ex- ¢

1) Bougainvillea has anomalous secondary growth

2) cork cambium stops growing in the plant’s maturity

3) old stems cause the elongation of primary tissue

4) some woody plants have unusually long roots

According to the passage, ---—---—--,

1) broad-leaf species yield harvestable cork

2) potato tuber is classified as a long-leaved plant

3) vascular cambium is active in woody plants

4) the cork cambium ruptures the stem epidermis

The word ‘ancestral’ in the passage (underlined) is ‘related to something existing at
]

1) two points of time 2) a later point in time
3) around the same time 4) an earlier point in time
PASSAGE 3:

Pine barrens. pine plains, sand plains, or pinelands occur throughout the northeastern
U.S. from New Jersey to Maine as well as the Midwest, Canada and northern Eurasia.
Pine barrens are plant communities that occur on dry. acidic, infertile soils dominated
by grasses, forbs, low shrubs, and small to medium-sized pines. The most extensive
barrens occur in large areas of sandy glacial deposits, including outwash plains,
lakebeds. and outwash terraces along rivers. The most common trees are the Jack
pine, red pine, pitch pine. blackjack oak. and scrub oak: a scattering of larger oaks is
not unusual. The understory includes grasses. sedges. and forbs, many of them
common in dry prairies, and rare plants such as the Sand-plain Gerardia (4galinis
acuta). Plants of the heath family, such as blueberries and bearberry, and shrubs, such
as prairiec willow and hazelnut, are common. These species have adaptations that
permit them to survive or regenerate well after fire. Pine barrens support a number of
rare species. including lepidoptera such as the Karner Blue butterfly (Lyvcaeides
melissa samuelis) and the barrens buck moth (Hemileuca maia). Barrens are dependent
on fire to prevent invasion by less fire-tolerant species. In the absence of fire, barrens
will proceed through successional stages from pine forest to a larger climax forest.
such as oak-hickory forest. European settlers found extensive areas of open game
habitat throughout the East. commonly called "barrens". The American Indians used
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fire to maintain such areas as rangeland. Open barrens are now rare and imperiled
globally. Suppression of wildfires has allowed larger climax forest vegetation to take
over in most one-time barrens. In North America, barrens exist primarily in the

American Midwest and along the east coast.

The passage states that ———--eeeeeeeee,

1) blueberries are the origin of the heath family

2) Agalinis acuta grows under sand plains

3) red pines are a large species of pitch pine

4) open barrens are quite common in Canada

It is stated in the passage that ---—--—eeeee-

1) barrens are dependent fire-tolerant spcc;cs for survival

2) barrens exist primarily in the American South Coast

3) pine plains grow side by side with grasses and low shrubs
4) the Karner Blue butterfly co-exists with the barrens buck moth
The passage points to the fact that ——----—ceeeeeev

1) game habitats were used by the Indians as rangcland

2) sedges and forbs act as grass understories in prairies

3) the New Jersey pine barren occurs in Midwest US

4) oak-hickory forests are developed out of pine forests

It may be understood from the passage that —eeeeeaeeeenee,

1) barrens do not usually have any successional stages

2) prairie willow and hazelnuts cannot survive large fires

3) sandy glacial deposits consist of outwash terraces by rivers
4) Hemileuca maia live well side by side with scrub oaks

The word *suppression’ in the passage (underlined) is closest to --eeeeeees,
1) *control’ 2) *spread’ 3) "absence’ 4) “frequency’
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